DIRECTORATE OF SCHOOL EDUCATION

TAMILNADU
12NPCBO1 Class : XII
NEET PRACTICE QUESTIONS Time: 1.15 hrs
(2023-24) (TEST-1) Total Marks: 240
General Instructions:

1. The test is of 1.15 hrs duration and consists of 60 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15

1. Two spheres carrying charges +6uc and +9uc
separated by distance d, experience a force of
repulsion F. when a charge of —3puc is given to
both the sphere and kept at the same distance as
before, then new force of repulsion is?

A) 3F B) F/9
C)F D) F/3

d @emLQaleflullev LNflEs emeussLILL(HeTer
+6pc  LMMID  +9uc  OledTeRmL L. G&ITETIBIG 6T
2 qoTHlD aNlevs G Nleng F Gl Q& Tem6eVen el
LIHMT0OE  -3uc  WeTedrl Lid @ réesor(h
et L. CoHMeTm&HEHSHGM  6rflesIudID
GUMEl 2_(Hheum&G LD ellevs G allena?

A) 3F B) F/9

O)F D) F/3
2. When 10" electrons are removed from a neutral

metal plate through some process, the charge on
it becomes

A)-16¢
C) 10° ¢

B)+1.6¢

D) 10 "¢

B Blemevuilev 2 6Tem 2 GeuM&HS FL 1960 @ (HHSI

JGHID @ WemMUIEL 10" 6TeVEL [JTETSH6IT

BssluGn  Cums  SIbs 65O QUMD

1Ol 6oTemmLL_LD
A)-1.6¢
C)10% ¢

B)+1.6¢
D) 10 "¢
3. If 10" electrons are acquired by a body every

second, the time required for the body to get a total
charge of 1C will be

A) Two hours
C) Two years

B) Two days

D. 20 years

) QUITHET &(hH aNeoTmIy &G 101
6TELEL_TITEOTE 66T QILIMMIG G &TETEHLD 6T6otl6v,
1CQWUMES W6Tea L Gams QLM CHemalllLi(ID
5] )

A) @ revor(h) Lo6ooT] GBITLD
C) @Uetor(® 2600T(h & 6T

B) @ evor(h BITL_&6T
D) 20 =4,600T(h & 6T

4. A charge Q is divided into two parts q and Q—q.
if the coulomb repulsion between them when they
are separated is to be maximum, the ratio of Q/q
should be

A)2 B) 12

C) 4 D) 1/4
WletTeaml’ Lid Q QLeorsl q WMmMID (Q-q) eTedTm
@ UGS STTE LNflssluGSRna. @eualmm
Wifleaslul_peter  Wemeanl L UGH&HEHHS
@O GWimer Fasld eflevsE ellenswmergl
QLIIHLOLOMTES SjeMDaIFHMES Q/q SIS0

A)2 B) 12

C) 4 D) 1/4

5.A charge g isplaced at the centre of the line joining
two equal charges Q, The system of the three charges
will be in equilibrium if q is equal to

A)-QR2 B) —Q/4 C) +Q/4 D) +Q/2
Q e6Tm @@ &meT LOleTenr L & em6rT
@ eTH G CHITLIQET emMDWSHFH) g 6Tedrm
6T L LD 6260TMI 6m6USHSLILOSMS eLn6eoTmI
WetTear L. QsMGLILLL FloBleneuuiled) @ mes
GeuetT(H G LD6DT1I6V q 3, 60TSI

A)-Q2 B)-Q4 CO)+Q4  D)+Q2



6. The number of electrons to be put on a spherical
conductor of radius 0.1m to produce an electric
field of 0.036 N/c just above its surface is

A) 2.7 x 10° B) 2.6 x 10°
C)2.5x 10° D)2.4x 10°

0.1m SLowpeTer  G&mem  allgel &L GHulleor
Urly&éE gmm GGeu 0.036N/c 6T VG

2 (HaUMHSH CHEMEUUITET  6T6V& L [T MeoTds6rfleor
6T600T 60011 & 60) &

A)2.7x 10° B)2.6x 10°

C)2.5x 10° D)2.4x 10°

7. The electric field at a distance 3R/2 from the centre
of a charged conducting spherical shell of radius R
is E. The electric field at a distance R/2 from the
centre of the sphere is

A) Zero B)E C)E2 D) E/3
R aupwpeTer lerenrl Lih QUMM 2 eTerflMmm
G5 TeTS &) 60T ML WSH O BH S 3R/2

Qs memevailey LOleTLIeVSH 6T IDHLIL] E eTeofleL
GBS & 60T eMDUWSH BB R/2 Q& Tenevailev
Ll eoTeRTL L& & 6T LoB)LIL|
A) &0 B) E Q) E/2
8. A charged particles 1is suspended in a
uniform vertical electric -field of intensity
20000V/m. If mass of the particle is 9.6 x
10! kg, the charge on it and excess number

of electrons on the particles are respectively
(g=10m/s?

A)48x10"¢,3
C)3.8x10"¢c,2

D) E/3

B) 5.8 x 101%¢, 4
D)2.8x107¢, 1

20000V/m Frmeor QEFMGH5M5
QEweLI(hLD LAl 60T L] 6V & B 6L 9.6 x 107'6kg
151 60) (D UL 6T6IT 6T L_LD QUMM

QUITBETTETSH QS THISG L LU (B\6Tengl  6Tevflev
Qum@perfleor WeTeRML LD WMHMID QUTH6rlev
2 _6iTerm 6TV & LT 60T 85 61l 60T 6T600T 6001 1 856085
(g=10m/s?
A)48x10"7¢,3 B)5.8x 10" ¢, 4
C)3.8x10 "¢, 2 D)2.8x10 "¢, 1

9. Planck’s constant (h), speed of light in vacuum (c) and
Newton’s gravitational constant (G) are three fundamental
constants. Which of the following combinations of these has
the dimension of length?

/| GC /| hG
A) h3/2 B) Cs/z

/| hG /hC
C) 05/2 D) ?

el nmailedl h, QeumnilL g ev sperfluilesr Goudsin

c Blw,LLeofledt Lyl FFTLIL nmniled G <& Wiemel
QL6 LDmmledssermermey LI 6dTeu (H 6 6oT6u M) mI6iT
615l HeTGH M & MeoT LIK1LDMEsoT 15606 G LM ([HH G LD

| GC | hG
| hG hC
c) Vo D)V G

10. The physical quantities not having same dimen-
sions are :

A) Speed and (pg,) ">
B) torque and work

C) momentum and Plank’s constant
D) Stress and Young’s modulus

L edTeu(pLD @) 60 6v0T 3|6m6)&6rflev G
UflinmeoorBigGemeT QUMM BSHHTS 2 6mali(h & 6T
6TEmI6U?

A) GeussLd IDOHMID (pe,)"?

B) &L ellems Inmmilh Gelemev

Q) 2 bsLd InmmID el omled

D) H6m&6) LOMMILD UIMIG 608D

11. If the time period of oscillation of a pendulum is
measured as 2.5s using a stop watch with the least-
count %2 second, then the permissible error in the
measurement s

A)10% B)20% C)30% D) 15%

6(IH &6011 2615 60l60T 2|6M6V6) &HITEVLD 2.5 s 6T60T ([

BlOIGa 1/2 s BEFRDHMETe| Q&ML BlMiG S
HI&HTTHST emellILGR S el 196V
gL aumILiL]eTen Llenpemwl &e6orss 8 (b

A)10% . B)20% C)30% D)15%
12.1If X = at + bt?> where x = distance, t= time, a and
b are constant, then unit of b is
A) KmS B) KmS™!
C) KmS D) KmS?

X = at + bt? eT60TM FLOGTLITL Y6V X = QFHTeO6VE, t =
&MeulDd, a LDMMILD b mMled) eT6vflév b - 6T 36V &

A) KmS
C) KmS=

B) KmS™
D) KmS?

13. A physical quantity of the dimension of length
that can be formed out of ¢, G and 4z, is [c
is velocity of light, G is universal constant of
gravitation and e is charge]

62

A) CZ<GF&>% B) Slaie )

¢) ¢Orre D) clire.)




C, G Wmmih ﬁgo SIETOYHENET G185 TeoT(h)

2 (HOUMEHEHS Fnlq Ul HETEH 60T L]0 T60T I8 60 6T

Q& mevor(hemem 6Tl 61gl. (c - sperflulleT Hlems
Geussld G - FFLLNwev nmailed e - ledTenmL L LD)

, 2 b 1 2 !

NN <G4§eo> B) ?(Gfma)

1 e
C) ¢ Yire,

D) %(642'8 )7

14. Aphysical quantity y is represented by the formula
y = m? r* g* 2 If the percentage errors found in
y,m,r,]l and g are 18,1,0.5,4 and p respectively, then
find the value of x and p

A)S5and £2 B)4 and+3

C) 16/3 and £+ 3/2 D)8and £2

@ QUMLIW6L sjemai() y = m? r* g* 123 6T6dTM GUITUI
UL L6V oemell_ LIS mG!. y,mrl InMHMID g &G
sjemall_liLu@ alwssrlhH ey wenmGul

4,0.5,1,18 LDMMILD P 94,@&LD. x LDMMILD P~ 60T LOG) LIL |
A 5 WDMMILD + 2 B.4 LoMMID =3

C.3/16 DOHMILD + 2/3 D. 8 LoMHmiLh + 2

15. The pair having the same dimensions is
A) Angular momentum, work
B) Work, torque
C) Potential energy, linear momentum
D) Kinetic energy, velocity

G mS flumest
QuMMieTeT  emei(h &6

L) 63T 6L (I 61 60T 6L (D M1 61T
LITf]LO IT600T 161 85 600 61T
WImemeu?

A.G&IT600T 2_[5&LD LoMMILD G6Ue6m6v

B. Gauemev LOMMILD H(HLIL| ellemL

C. Blemev QL,MM6L LnMMID CHICSHTLG 2L
D. @ W& pMMeL LoMMILD Hlen&FGauss LD

CHEMISTRY Q.No. 16 to 30

16. The element Z = 114 will belong to which of the
following family and electronic configuration

A) Halogen family [Rn] 5f'* 6d'° 7S? 7P°

B) [Rn] 5f** 6d'° 7S 7P?

C) Oxygen family [Rn] 5f'* 6d'° 7S* 7P*

D) [Rn] 5f* 6d'° 782 7P
FefllnGH6eT e etevor 114, Heoflln eulflens
I Lealemeooruiley @& Heofllnld jemLDbS6TeT

Q55 GOWLULD WMHMID &H60T 6TeVEL[TTeoT
SlemL0LIL]

A) aammevel60T G (DL [Rn] 5 6d0 752 7P5
B) &MTJLIET Q& M&GSH) [Rn] 5 6d'0 752 7P2

Q) QL&MIK6T Q& TGS [Rn] 54 6d10 752 7P4
D) enBLJR60T Q& TGS [Rn] 514 6d'0 752 7P
17. In which of the following options the order of

arrangement does not agree with the variation of
property indicated against it.

1) B< C <N<O0 (Increasing 1st Isoniation enthalpy)
i1) I< Br< CI<F (Increasing election gain enthalpy)
ii1) Li<Na <K <Rb (Increasing metallic character)

iv) A" <Mg* <Na+ < F (Increasing ionic size)

A) (1) (i1) (ii1) B) (i) (i1)

C) () (i1) (iv) D) (1) (i1) (iv)
B0 856007 L aflenslu®RSSLIULG6TerT
& 601 L0615 61T ML LIS &6
Q&EMTH&H&LILIL (h6Ter LieooT L| 85616 (pIb 3!
CaumLGBMmSI?

i) B<C<N<0((LDS6VTeU S 3| Ul6fUMTE & LD QM Mmev
gmi aliflen&uiev)
ii)y1<Br<  CI<F  (eTeL&L_[JITe0T
gmiaiflenguiev)
iii) Li<Na<K<Rb(2_Gevmas L1 LIevor L ggmieuiflen s uilev)
iv) A+ < Mg?* < Na* < F (3jwlenfl&erfledr 2_(pHeuerey
goialfleng uilev)

FH6UJHE0TEM LD

A) (i) (i) (iii) B) (i) (i)
Q) () (i) (iv) D) (i) (i) (iv)
18. Identify the wrong statement in the following

A) Amongst isoelectronic species, smaller the
positive charge on the cation smaller is the
ionic radious.

B) Amongst isoelectronic species, greater the
negative charge on the anion larger is the ionic
radius.

C) Atomic radius of the elements increases as one
move down the group of the periodic table.

D) Atomic radius of the elements decreases as one
moves across from left to right in the second
period of the periodic table.

BLD GG 600TL UMMV 2 66T SeUMITEOT Ja MM

A) 3G IT eTeLE LT 6T 18 3 Wienfl S 6rflev e mH s
GrIleTaemmenl 2. emLw  CrFdledr
Iwenflulledr 2_peauera] MW TUN[HE G LD.

B) B&FmeTeu&L_JMenfls  SjweflEHefley 955
I FTeTEHmMNEmU 2 emLW TS FLiledr

W eoflul 6T 2_(HeueTe] 35 &L0Ms @) ([HEGLD.

C) Beofln auflem s 911 L auenevoruilev GLed (BB S!
FOTHF QFLNID  CUTH 2 swiedleor
2 _(peuere] 5 &6 @GLD.



d) geofln auiflem & oL Leuemevor uileL @ L L HHS!
QIIDMHE QFaID GCUTEH  3jevieiler
2 (HEUETE LI LILIQUIMTS &6 MULD.

19. Amongst the element which one many have
highest ionization energy?

A) [Ne] 382 3P

B) [Ne] 3S? 3P?

C) [Ar] 3d'°48% 4p*

D) [Ne] 38 3P
GG Q&HTH &S LILL (H6TeT &6t L0 &6rfl 6T 215 &
S Weof M@ LD QL,MHmemev QLM MI6TET &evfllolh

A) [Ne] 352 3p3

B) [Ne] 352 3P?

C) [Ar] 3d™ 45 4P

D) [Ne] 352 3P!

20. Which of the following oxides is not expected to
react with NaOH?
A) B0, B) BeO
C) Sio, D) CaO
GFMIQUILD ML T TEeng (H 60T allemeorL|flulms
2,50 (b
A) B,O,
Q) sio,

B) BeO
D) CaO
21. Identify the correct order of size of the following
A) Ca¥ <K'<Ar<S* <Cl
B) Ca** <K' <Ar<Cl <S§*
C)Ar<Ca? <K'<(Cl <S8*
D) Ca> < Ar<K"'<Cl < S§*

S wieofludledr ©_([HeueTemeLl QUITHS S,
goeuflenguwilev grflwmeor auflem&emul
:1ulaEA0)

A) Ca?* < K* < Ar < S* < CI-
B) Ca®* < K* < Ar < CI- < §*
C) Ar < Ca** < K* < CI- < S*
D) Ca?* < Ar < K* < CI- < S§*
22. An atom has electronic configuration 1S? 2S? 2P¢
3S?% 3P¢ 3d* 4S? you will place it is
A) 5th group
B) 15th group
C) 2nd group
D) 3rd group
152 252 2P6 352 3P6 3d3 452 6T60TM 6T6V &5 L_IJ 60T

Sjemollenll 2 el Seoflnh Seofln euflens
| Lalemenoruiley @L LD QLIMHMIETET Q& TE&HS)

A) 5 gl QTGS
B) 15 augl QHMTGSGH
02 eaug Q5MT&S
D) 3 UGl QBTGS)

23. The major product ‘H’ of the given reaction
sequence is

CN- 95%
CH,CH,COCH, ————» G————»H
H,S0,A

A) CH,-CH=C- COOH B) CH,-CH=C-CN
| |

CH, CH,

OH
| _
C) CH,-CH,=C- COOH D) CH3'CH‘C|' CO-NH,

CH. CH.

GLD GG 600TL Geaudallemeoruilev QLI(BLOETEY
Re0_555 Tl W ellemeor ellemer@LIMTH6T H
CN- 95%
CH,CH,COCH, ————» G———»H
H,SO,A

A) CH,-CH=C- COCH B) CH,-CH=C- CN

CH, CH,
OH
| CH,-CH=C- CO-NH,
C) CH,-CH,=C- COOH D) |
| CH,
CH

3

24. In the reaction

Br,/NaOH
H,C — CONH, —— T’
cocl



GGG CauFlellenerulley T eI &T600TS
Br,/NaOH

e —(O) conm, =y

A) HC—@—C O- c@
» @i~

O ch@NH—C@
S —c
O

0

25. RDX explosive is prepared from
A) Urotropine
B) Diacetone amine
C) Hydrobenzamide
D) Acetal
RDX QeUlqQUIMTIHen6T SWTfl&8 2 86 6l S)
A) WML GrmLieor
B) 60L& L_GL_IT60T 26010 60T
Q) emamL_GrmelLeTFemnL(h
D) AL M6V

26. The appropriate reagent for the following
Transformation

I
CH,
—
HO HO

A) Zn (Hg), Hel B) HN - NH,, OH"
C) H,/Ni D) NaBH,

GLGeeaL Caudlallener LLTHMSHMHG 2 &5bHS
61606015 & T[T 6001 |

(@]
I
CH,
—
HO HO

CH,-CH,

CH,-CH,

A) Zn (Hg), Hcl
Q) H,/Ni

B) H,N — NH,, OH-
D) NaBH,

27. Among the following the number of reaction(s)
that produce(s) bezaldehyde is /are

CO.HCI
O
Anhyd.Alcl, cucl
CHCL
B)
100°C
CodCl
C)
off
Pd/Baso,
CO,me
D) @
DIBAL-H
Toluene H,0
A)ab
B) a only
C) ab,c
D)a,b,c,d

QUeTFMLI maMenL  SWMleHe: GHBLpsae600mL
6165 6l 6n TS 6T &FTH S WD TR M SI?

CO.HCI

A)

©

Anhyd.Alcl, cucl
CHCI,
B)
H,O
100°C
Codl
C)

H

2
Pd / Baso,
CO,me

D)
DIBAL- H

Q@ @

Toluene H,0



A) ab

B) a only

C) ab,c

D) a,b,c,d
28. The most suitable reagent for the conversion of

R~ CH,OH — R — CHO is/are

A) KMnO, B) K,Cr,0,

C) CrO, D) PCC
R—CH,0H—R—CHO &mgeuoil @)euGeueilemneor
WLTOHMEH MG 2 565 61l60)60T8 & ITT600r]

A) KMnO, B) K,Cr,0,

Q) Cro, D) PCC
29. The reaction between acetaldehyde and HCN is

an example for

A) Nucleophilic addition

B) Nucleophilic substitution

C) Electrophilic addition

D) Electrophilic substitution

T Lmevigemam(® mmid HCN @) 6oL GulULImeoT
el em 6ot

A) &(HSHIT CFFT&HMS 6)lemeoT
B) &(h&: &6 LIS () eflemreor
Q) eTLSL_TMET &HeuJ CFFHS el eor

D) eTeL&L_ImedT &Heuif LK S ellemeor

30. Acetaldehyde is the rearrangement product of
A) Methyl alcohol
B) Allyl alcohol
C) Vinyl alcohol

D) Ethyl alcohol
LI edTeu (Heu6etTeUMMIET 6T&H G L T6VL].6M QL] 60T
WrmHmlwin

A) QLOSH ) 2,608 aMITeV

B) 2/6VEMEVEV 3,6V EHAMITEV

C) aNlem6uT6L 2,6V HAMTEV

D) 6T& 56V 2,60 &HAMTEV

BIOLOGY (BOTANY) Q.No. 31 to 45
31. Match the following

A) Runner - (i) colocasia

B) Sucker - (i1) centella asiatica
C) Rhizome - (ii1) chrysanthemum

D) Corm - (iv) curcuma longa

a) 1 il i v

b) i il iv i
c) iii il i v
d iv il iii i
QUM S &
A) @ H6voT() - (i) QS TeVEGHErNUIT
B) 6mT &b
2 158 H60oT(D) - (i) C&F6ETGL6V6EVIT

JRAWMLLQ8T
Q) L mlevs &evor(h - (iii) BenFaFmerHILnL0n
D) MWL SHRPMHIG - (iv) GTGSLOT 6UITHIGT

A B C D
a) i i ii iv
b) i iii iv i
c) il ii i iv
d) iv ii iii i

32. Identify the incorrect pair

L. Stock - plant which is in contact with the soil
I1. Scion - plant-used for grafting

1. Budgrafting - scion and stock having the same
thickness

IV. Tongue grafting - T - shaped incision.
A) T & 1T B) II & III
Ol&1V D) Il & IV

SHAUMITEOT ©)6M600T6MLI & 600T LMl &

l. Gou&L_6mL. - &H60 T UL 60T QSTLIJL 60
STeUrLd

oL (hS S0 - RLHHVES
LweTU®MSSLILIHILD
SMeUTLD
. QLITL® RLBIG6V - 62GT LI[HLOSDI60) LU
RL(H1SSe0( LDOHMILD
GauisLemL
IV. BT 2L_(H &6V - T - aulgeu Emev
A) | Lo autd 1Nl
B) Il LM muLd 1Nl
Q) | LMD IV
D) Il b mILh IV



33. Examine the diagram and identify the parts

e
B
C
D
A B C D
A)  Exine Nucleus  Intine  Germ pore
B) Intine Nucleus  Exine  Germ pore
0] Exine Intine  Nucleus Germ pore
D) Germ pore Exine Intine Nucleus

BLHHETL LLGNS STMUIHS LITSHK S6T
&600T L1 &

A B C D

A)  THOFHT 2L &M Q60T eleTHSIem6T

B) QeTeOLET 2L &0 6I&H0EF60T - 6UETISI6N6T

C) CTHFET @6TenL6T 2 L&  GUETISIn6T

D) GUETSIEN6T 6THNF6T @6l 6T 2 L &
34. The temperature of cryopreservation is

A) 166°C

B) -176°C

C) 186°C

D) —196°C
2 eom Gefly umssTi6 LweTU®mSSLILGILD
QeuLliLIBlemev

A) 166°C

B) -176°C

C)186°C

D) —196°C
35. Which of the following is having segmented

nucleic acid

I. Influenza virus

II. HIV

III. Wound tumour virus

IV. Tobacco Mosaic Virus

A) &1

BYII &IV

Ol &IV

D) II & III
FssorLammley  a&Hev 2 L asm  Idlevld
FMIF M S1600T(HSHETTHS STeooTLILIHSH MmS!

|. ©)60TL| @B LIGOTEIT 606U [J6N

. HIV

. SHITUWIEHLDETIEV 606UIT6IN

IV. Lieny & UN6mr6V QILDTEn&FE 6M6U TN

A) 1 lmoin i
B) Il LoMmuLD IV
O Il LoD IV
D) Il Lo miLd NI

36. Match the following
A Monera — 1) sponges
B. Protista — i1) marchantia
C. Plantae — ii1) amoeba
D. Animalia — iv) eubacteria
A B C D

A) il 11 1 v
B) 1iv i1 11 1

C) 1 1 v i
D) ii v i il

LD 5 600T LU MM QLIMHSH S5
AQOTefTIm - (i) &L MLIEHS 6T
B. LUGTITIQ6IVLIT - (i) Lnmyasmesradluim
C. emmevorGL (jii) LSLIT
D. ojeofllomeSlwim — (iv) w,uimgie fluim

A B C D
A) il ii i iv
B) v iii ii i
Q i i iv ii
D) i iv i iii

37. Pick the correct pair:
I. Sulphur bacteria — (1) thiobacillus
II. Iron bacteria — (i1) nitrobacter
II1. Hydrogen bacteria — (ii1) hydrogenomonas
IV. Nitrifying bacteria — (iv) ferrobacillus



A)Tand I
B) Il and III
C)land III
D) III and Iv

Frflwumer @eneoorenwld CEHIHAS M
l. BB LIMSe b6 - (i) CWmCLF svevey
. @@LOL] LTS e Flulmbi g 6T — (i) 6B LG MU LT
. ML 72607 LIMEsLe [ ULIMI& 6T
— (iii) emam G me3Geor MGLOITEOT TEN
IV. 60 BL_JEQ60T TS LIME e [ WLITEIS 6T
— (iv) QUIGFmCLT6L6v6N

A) I LoHmILD |l
B) Il Lo ayLh I
Q) I oMM 1l

D) Il Lo MILD IV
38. Which is related to Frederick Griffith
A) Diplococcus pneumoniae
B) Bacillus megaterium
C) Bacillus sphaericus
D) Clostridium tetani
L8 @ flelig 2 L 6T QSTLTLjemL WIS
A) 1QLIGeTMT&ME&6M B1GLmenflGul
B) GUF6veveL QS THIFlWILD
C) GLIB6LEVEN 6rVE LIl 6
D) SemmervL_1q ifluih QL L_meofl

39. Offsets are produced by
A) Meiotic divisions
B) Mitotic divisions
C) Parthenocarpy
D) Parthenogenesis

B RI0) S6v0r ()
2 (BUMSESELILGSRMSI.

@\& 601

A) BlwImg & UGLIL&6T

B) 6MLOL_LITIQ& LIGLIL&6T
Q umisHCeormamiLi

D) LIMTT& 3 GeormGleg6uf1 & 6rv

40. Point out the odd one
A) Nucellus
B) Embryo sac
C) Micropyle
D) Pollen grain

QUITBHSTS 6Tenm CHIHOS M)
A) GVD) &
B) &(HLIemL
Q) GeLglemarT
D) D& THSHS SI&6lT

41. Which one of the following statement is not true?
A) Pollen grains of many species cause severe
allergies

B) Stored pollen in liquid nitrogen can be used in
the crop breeding programmes.

C) Tapetum helps in the dehiscence of anther

D) Exine of pollen grains is made up of
sporopollenin.

B GG 6E00TL UMMV HeUMITET Fn MM 6TSI?
A Flev FmnileThisefledT D& THS S8 6T TS
2HG aammLOW gHUO SIS DS
B) g6l embL_refley CFLAG S emeus &Ll L

0G5 [H &5 M6l & 61T Lusli QUB&HEHS T 6V
LweTUBSSLILOR DS,
Q) D& THSH S SIS 6IT QeueflCWMHMSH DS

LT LD 2 56BN ma.

D) ID&THSSH Sis6TleT 6TemnFer 3i(H &8 TeTS)
e BUMTCTTQ LITed 6vfl60r60T Q& T6voT (H) EIT6MS!.

42. Pollen tablets are available in the market for
A) In vitro fertilisation
B) Breeding programmes
C) Supplementing food
D) Ex situ conservation

FH60 & 561160 D&THS LDITE &) 60V [T & 61T
AHsUUG RS
A) 316|580 L &(IH6)MISH6V

B) LWITQUH&HS HL_LMIG6T
C) &160)600T 2_600T6Y
D) LymeumdlL LMsIssmLUL]
43. The percentage of plasmids in a bacteria is
A) 0.2% to 2.0%
B) 0.3% to 2.0%
C) 0.4% to 4.0%

D) 0.5% to 5.0%
umsleflu  QFFevedlsyerter  LlemmenuLdl (b sserfleor
F5eislh

A) 0.2% to 2.0%

B) 0.3 % to 2.0%

C) 0.4% to 4.0%

D) 0.5% to 5.0%



44. A pigment Bacterioviridin is present in
A) Chlorobium
B) Chromatimum
C) Acetobacter,
D) All the above.
umsieflweifliger ereib BlmLll &mesor UL eu gl
A) GCermGrmLiwLh
B) &GrmGweadluild
Q) AT CLTUMSLT
D) GLOM&600TL 2{6M60TSH SILD.

45. Which of'the following is coming under chromista

I. All algae whose chloroplasts contain
chlorophyll a and b
II. All algae whose chloroplasts contain
chlorophyll a and ¢
III. All algae whose chloroplasts = contain
chlorophyll a and d
IV. All algae whose chloroplasts contain
chlorophyll a and e
A) I only
B) I and II
C) II only
D) I and III

GCymdlevLm ereuh  Qu@pd  LAflefler  Sip
QUBEUSI 6TSI?

| UGS 60lHESFH0 LFmMFWMD a WMmMID b
Q& MevoTL LIS &6t

Il UF RIS HEHFH LFMEFWLD a LDMmMID ¢
Q& mevoT L LIMTE &6

. UF MRG0l &S LIFMFULD a WMHmID d
Q& MevoT L LIMTE & 6iT

IV. UGBS0 &HE5He0 LFMFWID a G&Teoor
DMHMID e Q& MeooTL LIMTF G6T

A) | L BID B) | LDMmILD 11
Q) Il L BLb D) | Lo miLb Ili

BIOLOGY (ZOOLOGY) Q.No. 46 to 60

46. The correct sequence of Taxa is
A) Class — Order — Family — Genus — Species
B) Class — Order — Genus — Family— Species
C) Phylum — Order — Class — Species — Genus
D) Class — Phylum — Order — Genus — Species

Fflwumer euemn&LIUTL(H LLgBlemev auflens

A) eusLlY - auflemns — GO WU — Guifleorid
FmnileorLd

B) au@LiL — euflems - CGuifleorid &G@HDOLILD
A mmleorLd

Q) Q5MGH - aflens — el - Amnilerid
Gurfleorid

D) G LIL - QTGS — auflens — Guifleorid
A mnleoTLD

47. As we go from species to kingdom in a taxonomic
hierarchy, the number of common characteristics
A) will decrease
B) will increase
C) remain same

D) may increase or decrease
Ammleorid - P&V  26usMLD  euemuilevment
alemaLIUTL®) LILQ [Blemevserflev, QUMSIL
L1600t L| &561T1 60T 6T600T 60011856008

A) GEODULD

B) 2185 fl6G LD

C) 65 BlemevuwileL @) [HE G LD

D) GODHEBT  ({6V6Val)
&mevor LILI(hILD.

AH&HSCHT

48. Assertion: Each taxonomic group can have two
Or more names.

Reason: Name should be short, precise and easy
to pronounce.

A) Both Assertion and Reason are true and Reason
is the correct explanation of Assertion.

B) Both Assertion and Reason are true, but Reason
is not the correct explanation of Assertion.

C) Assertion is true, but reason is false.

D) Both Assertion and Reason are false.
FnMMI R6UGCAIMIMH UMSLIUTL( GS(WeLD,
@ evor(h VLS AHMES CLOMLIL L QILIWLITSHEm6T
Q & IT600T L. (TH & >6VITLD.
& ITIJ600T LD QUWISET  AMlWeTSTHaLD,
Q& erfleumenrsMea]LD, o FFfllUsHE&
JEIQUTETHTHE LD @) (HSHH6V Gaueoor(hLD.
A) Gamml DMHMID SHTFeoTD S @) Fevor(HILD
Fifl. &ryeoorid Fammm@ &Fifluimet ellemg&0h

B) 8w (HMILD ST 60T (LOLD & If]. & T T600T LD S M M D (&
Frflwmer ellemg s 3j6vey

Q) Ga MMl &if] QLE0TIT6V &ITFEUOTLD &6 Ml
D) &a MMl LOMMILD &TF600TLD @) F60oT(HLD &6)mI



49. Match the following columns:
COLUMN-I COLUMN-II

A. Philosophie Zoologique — 1. Carolus Linnaeus

B. Historia Plantarum — 2. Lamarck

C. Systema Naturae — 3. Theophrastus

D. Genera Plantarum — 4. Benthem and Hooker
A) A-3,B-2, C-4, D-1
B) A-2,B-3, C-1, D4
C) A-1,B-2,C-3,D-4
D) A-4, B-3, C-2, D-1

aufleng-| aflena-Il

A. afleumBIHWI6L S Sl — 1. HBFMTeVEN
601 60T G 60T W61V

B. HITeU IS 66T QLM eUFeLTMI — 2. QUITLOTI &
C. @umemnsWiler wemm — 3. HEW ML FmervL6n
D. @eoflgm LNeTMeTLTFLD — 4. QUBSLD  LOMMILD
pINE:N: )

A) A-3, B-2, C-4, D-1

B) A-2, B-3, C-1, D-4

C) A-1,B-2,C-3,D-4

D) A-4, B-3, C-2, D-1

50. Which one of the following groups have the
greatest number of characteristics in common?

A) Genus
B) Kingdom
C) Phylum
D) Species

BLHETERID  61HEH UmMGLIUTLH  Lgmleney,
T & 6T6v0T 60011 85600 85 Wl 6u IT6DT QUMsIL
L1600T L| 860)61T G185 T600T L_&517?

A) Guiifleorid
B) 2_eu&LD
0 05M1&H
D) G nleoTLd

51. Consider the following statements:

I. Human's scientific name is Homo Sapiens.
II. Genera Plantarum was written by John Ray.
III. Highest taxonomic category is division.
IV. Taxonomic group of any rank is taxon.

V. A group of closely related species of organisms
present genus.
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VI. The term systematic was coined by Decandole.

Choose the correct answer using the codes given
below:

A) I, 11, IV and VI
B) I, 111, V and VI
C)LIVandV

D) II, IIT and VI

CNY:F: ol [h) G D M1 8560 61T QLTMUBS

FrflwmeTenelgsemner &eoor_ MBS CHTHOS®M:

l. nevflgeofledr  onleflwer QuUWF Camm@Lom
G&FLILIUI60TEN ETEOTLIS TG LD.

Il. @ggeoflym  LSemmeoor L[y
TS WeUT mest G,

. Waesuauiflw euensiurl (s Qsm@LiL Lifley
GTEOT LIS M@ LD.

V. 6TH& @@ eUensLIUTL(H  LILBlemevemu]D
G&MEGID gnflalue Qe alemslIUTL(H&
@STG&LIL] (LT&6MITEoT) 6T6oT LILI(HILD.

V. QGBS Q5TLTLeLW & mhnleormi s erfler
Q&MGLIGL GUIflerTid ereorILI(BILD.

VI. 198 M60oTGLITEV  6I60TLIGUT  6U6MELILITL1Q UI6D
6T60TM Q&FMLEM6 (WPSETWPS 6060
AV WSO SSH T
A1 111, IV WL VI

6T6OTM  HTem6V

B) I, I, V oMb VI
Q) 1, IV Hmith V
D) II, Il Lo &I LD VI

52. Cladogram considers the following characters:
A) Physiological and bio chemical
B) Evolutionary and pylogenetic
C) Taxonomic and Systematic
D) None of the above

ReTmCLT&HIITLD 6TEOT LI G LD & 600T L

LI600T L| &561T1 60T 6T6m 85 @\ 85T6voT () 6TeITESI?

A) 2 LHAsFwedlwe inmmid 2 ully CeauGHuilwiev
B) un‘l.amrrru_)u LI6ooTL|&6IT LoMmMID oFLeudlLl
LI600T L & 61T

C) LLIWITH ST LOMMILD ) 60THGSHTLTL
QFHTGLILMLNG

D) GmGMILILNIL L g&idlevemev

53. Mule is a product of
A) Breeding
B) Mutation
C) Hybridisation
D) Inter specific hybridisation



CHMTGAIM &IPS 2 (HAUMGLD elGID
A) @ 6TLIGLI([HESHLD
B) Ble omHmLD
C) &eulIL960TIDME & LD
D) GeumIiLIL L. Q@eThI&HEH&HGS @60 Gululmeor
©)60T&H&H6VLIL|
54. Uniparental inheritance is seen in
A) Bacteria
B) Taenia solium
C) Fishes
D) Human

Rhemm  QUMEMTH YLl  LI6TTL&H6eners

Q&Moo (H&& LD 2 _ullifleorid
A) LML f Ul M1 & 6T
B) leeof WM Q& meSlwiLD (BITLIT LjpD)
C) LS60T& 6T
D) Lnevf185 60T
55. Oblique binary fission is seen in
A) Euglena
B) Amoeba
C) Flagellates
D) Dino flagellates

Fmue|nl L @ @m&LnLY6Tey Wwemnmuiev

@ETELIHEHSD Qawluwb 2 ulli
A) wgerfleorm
B) LI
Q) Berflemip 2_ulliflser
D) emL Ceor e LNem M6 GevL_(H & 6T
56. Pick out the statement which is not related to
asexual reproduction.
A) Exogenous budding is seen in Hydra.
B) Pedal laceration occurs in sea anemones.
C) Isogamy is seen in Monosystis

D) Epimorphosis is seen in Star Fish.

B LD &G Tewl L6l ul6v LImedledl
QEOTALGSHSHSD DS QBTLIUDHD
QAUMERWSMNS CHTHOS M
A) Um WLWH PG emamL greiley
ST IL(G R M.
B) 21qLILIGH &1600TL_TFH60 Lemm

SLMHEFTLHHUN6L &meoor LGS M.
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Q) R5H0F60 GFJHME GLOMTG6UTTE 61 6M-6V
Smeoor ILBSRmSI.
D) 2_miLiL| LS L
Smeoor ILBSRMSI.

BLESHT LSevfl6v

57. Match the following columns and pick out cor-
rect option:

COLUMN-I COLUMN-II
A. Seasonal breeder — 1. Rabbit
B. Continuous breeder — 2. End of reproductive
phase

C. Senescent phase

3. Birth to reproductive
maturity

D. Juvenile phase — 4. Deer
A)A1,B2,C4,D3
B)A3,B4,C2,D1
C)A4,B1,C2,D3
D)A2,B1,C4,D3

LI 60T 61 (16U 6aTOUMEM M GILIMT([H S SIS
alflens | alflens I

A. LIH6USH 6V
©)60TF CF T&H60) & WITETT&HET — 1. (LOUIGV

B. Q&L &G WITeor
B\6OTECF T&H MG UIMTETTHET — 2. @) 60TGLIHE 5

Blemev LIgULD
SITeVLD

c. (pgleLn Blenev - 3. L6l mb Sl
QeETLIOLMmSHS WNHTFE
eUem

D. @ertd 2_ullifl mlemev — 4. LOmedT

A)A1,B2,C4D3
B)A3,B4,C2 D1
C)A4B1,C2 D3
D)A2,B1,C4,D3

58. Which of the following statements are correct

about Parthenogenesis?

I. It was discovered by Charles Bonnet in 1745.

II. Honey bees undergo Arrhenotoky.

II1. Paedogenic Parthenogenesis occurs in Redia
Larvae.

IV. Parthenogenesis is a complete natural process.

V.In thelytoky only males are produced by
Parthenogenesis.



VI. Artificial parthenogenesis could be done with
Sea urchin eggs.

A) L 11, 111, VI
C) 1L IV, V, VI

B)IL, 11, IV, V

D)LILIV,V

B LD & & TEsI LD For D DI & 6D 61T QLT TUIHSI,

FlUMeT FammIGemneT Q&meoL.  euflengenul

GBI HES (&8 LD:

|. S60T6011 @)6OTLIQLI[HEELD 174560 FITIFEV6MN LIM6oTL
6T6OT LIGUITIT6V &600T Ll ILIL L&),

. @ evtd & 6rflev T FCeorTCLMTH
SmeoTLIL(hP M.

. flguim @erib eumFeumaflev @erid 2 ullifl &eoreot]
@ 6TLIQLI[HESLD HeLQLMIGBMSI.

IV. 560Te0f] @) 60TLIQLI(HESHLID 6TedTLIZE (LPMMlevD
@) W (D) 60) & LI TeoT (Wwenmuiev LLHEL
HEO L QLIMILD.

V. Q560CLTEH eneuld gypevor 2 WilifleseT GG
2 (HUTHMS.

VI. BLV TFReollev Q&FWIMen SULITeT 8560160l
@6TLRUBHESID QFWLIBSSLILILL I
A) L 11 VI B) II, lll, IV, V
O, v, Vv, Vi D)1 I IV, V

59. Assertion(A): During favourable conditions
Amoeba undergoes encystment.

Reason(R): During unfavourable conditions, it
produces Amoebulae.

A)Both A and R are true, R is the correct
explanation for A.

B) Both A and R are true but R is not the correct
explanation for A.

C) A is true but R is false.
D) Both A and R are false.
FaMMI: FTG 80 ITE0T G LD B 60)6V 8561160 LS LITE: & 61T
2 MMWITEHS BleHLpemel CLMOSTETSHIMSI.
SITIJ600T LD: FISS&OMM GLpBlemev s erflev
IUSUTESHET @6TD SUTESmeT (3L GC6v)
2_(IH6UITE (G 5 60T M 60T
A) Fadm WMMID STgeord @ revor(hild  &Fifl.
SITFE0OTLD FanMemm SFiflWms allend: &R M
B) ZaMMm OMMIID &SHTFeoTd @ Fevor(ld  &ifl,
QLEOTITEY  &IJeoTld Samemm  Flwms
e &ellevemev.

Q) Ga MMl &1f] QLE0TIT6V GITIFE0OTLD FH6u Ml
D) Ga MM LOMMILD &TF6voTLD @) J6vor(hLD SHeUml.
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60. Match the following columns and pick out the
correct option:

COLUMN-I COLUMN-II
A) Budding 1. Planaria
B) Morphallaxis 2. Noctiluca
C) Autogamy 3. Vorticella
D) Conjugation 4. Actinospharium

A)A2,B1,C4D3
B)A1,B2 C3 D4
C)A3,B4,C1,D2
D)A4,B1,C3,D2

LY edTeuBeUetTalMemm QLIMIHS S5

aflens | aflens I
A. WDRLD S 6V - 1. Ner@eorrflwurm
B.p2-e IS L] - 2. BT euTssIT

C. &0TEHMBMIBHN - 3. CaumILIQQFeveuIT
D. @)6m60TeY (LDEmM  —
A)A2,B1,C4,D3
B)A 1,B2,C3,D4
C)A3,B4,Cl1,D2

D)A4,B1,C3,D2

4. 93,519 GeormeruGLIflulLb



